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Thus 

A Tick C the comect answez 

We one able to stay on the gound because of 

g210itational fonce h ela.stic Sonce 
C buayant fance d: Forictional fance 

2:A ScAenjack used to lift a coo is 

a inst-classlevezz b pulley 
Second-lass leven d Scnew 

The mnast eodily available sounce_af enengy is 

a: Wind enengy 6:soloo enengy c:geothenmal eneny d NdeI_eneng 

Ihe upwazd push af waten ona floating_object is_called 

buoyand foee b-volume c:density d phessuz1e 

Fill in the blnks. 

Most_simple mochines make use af mechonical fauce 

2 Thene is no piayitationa Sonce in space. 
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3 mple machines change the_dizecton o.F applied Soice- 

A movmg caz passessas_possesses mechanical enerngy 
due toiis meion- 

An inclined plane is aslope which makes wonk easen 

hange he undenlined Nonds to_coect these SHatemens 

:Astretched 2ubbenband regains its aniginal position 
on beinq neleased becaLse_of_gravitotional faIce A-elastic 

Teathenmal enezgy is a non-enewahle sauce of eneagy. 
Ans- Renewable 

3 he pulley u.sed fan_ drawing waten Fnom a well iS a- 
Tmovoble pulley. Ans- Fixed 

Simple machineS make oul wonk _complicated Ans Easy 

5 We ane able to walk because of elostic. fonce. 

Ans: 5uictiohal 
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